VBS Aros
Hcp torsdag 2023-05-25

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 168.0. Frirond (*) ger egen procent.

Plac  Par Poéng % Namn MID Klubb
1 9 220.4 65.58  Elfride Bjorklund - Inger Sundkvist 39828 92332 VBS Aros
2 13 198.1 58.95  Jorgen Lundberg - Per Forsberg 7657 36060 ABB BK - VBS Aros
3 3 197.9 58.90  Sven-Ake Dahl - Siv Sédergren 18727 50437 VBS Aros
4 16 189.6 56.44  Leif Johansson - Goran Sunehag 45345 56153 VBS Aros
5 15 185.4 55.17  Kenneth Kullinger - Yngve Uppsall 201514 200038  VBS Aros
6 7 178.3 53.06  Kristina Rynger - Lena Hokerberg 53403 53401 VBS Aros
7 5 173.7 51.68  Agneta Sima - Svante Sima 55217 55216 VBS Aros
8 10 1715 51.04 Per-Arne Persson - Hans Larsson 48179 62568 VBS Aros
9 1 166.9 49.67  Inga-Lill Stefansson - Amelie Sjoberg 60257 65537 VBS Aros
10 12 165.2 49.16  Ingrid Dahlin - Rolf Falkland 89932 28269 BK Orjan
11 11 163.9 48.77  Lars Hedgvist - Dilip Chawla 47282 26001 BK Orjan - VBS Aros
12 6 163.6 48.69  Lennart Undvall - Ingegerd Undvall 35994 35995 VBS Aros
13 8 154.6 46.01  May-Brith Olenius - Lena Svensson 53400 53404 VBS Aros
14 17 148.5 44.19  Ragnar Bergqyvist - Bittan Bergqvist 43430 43429 VBS Aros
15 14 137.5 40.92  Ove Lindahl - Bengt Wignell 88926 85347 VBS Aros
16 4 124.6 37.08  Kristina Ronnbéack - Murari Saha 45336 38294 ABB BK
17 2 115.8 34.46  Inger Borgstrom - Ingrid Eriksson 24972 28537 VBS Aros
1 aD4 Basta kontrakt 2 &« EKD Bésta kontrakt 3 & Kn97 Bésta kontrakt
Nord vK4 54 O =-450 Ost v8 64 S =1370 Syd v 1097542 5v S =450
Ingen 32 NS + EKn63 ov ¢-
#ED107632 & ¢ v & NT #76532 & ¢ v & NT #ED106 & ¢ v & NT
4E1085 497632 N85 224 4653 4109742 N 12117 8 11 « KD8 4 E10654 N7 3 113 3
vD10762 vEKn3 S85224 vKDKn5 v97632 S 12117 8 11 v Kn6 v3 S 7 3 113 3
+ED ¢ K975 O5 8 11116 4 K1087 ¢9 012651 ¢ EKn952 ¢ K843 039183
*K9 *4 vV 58 11119 #Knl0 294 V12651 #KKn2 2987 V 4 101 9 3
& KKn 4 Kn8 432
v 985 vE104 v EKD8
+ Kn10864 + D542 + D1076
#Kn85 #EKDS8 %543
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
15 2 3&#N-= *4 110 140 00|15 2 3NS+2 7 660 140 00| 1 12 5v N= s A 450 13.0 1.0
9 17 34 N-1 +5 50 120 20| 7 3 3NS+l1 v¥5 630 90 50| 9 14 5v N= aA 450 13.0 1.0
12 11 3&N-2 a2 -100 100 4.0(10 5 3NS+1 K 630 9.0 50|10 17 44 V-1 vT 100 8.0 6.0
14 8 34 O+1 & -170 80 60|13 1 3NS+1 ¥¢K 630 90 50|11 6 440-1 vK 100 8.0 6.0
7 3 29 V+3  #A -200 6.0 80|14 8 3NS+1 ¢K 630 90 50|13 2 240-1 vA 100 8.0 6.0
6 16 54DN-2 YA -300 4.0 100| 6 16 3NS= vJ 600 30 11.0|16 7 4vS-1 48 -50 4.0 10.0
10 5 44 O+1 & -450 10 13.0| 9 17 54 S= vK 600 3.0 11.0|15 3 34 O+1 ¥vA -170 20 120
13 1 4y V+1l  &A -450 10 13.0|12 11 3#S+3 ¥vK 170 0.0 140| 8 4 24 V+4 &A -230 0.0 14.0
- 4 58| - 4 58| - 5 8.0
4 473 Basta kontrakt 5 4109854 Basta kontrakt 6 4 Kn1076 Basta kontrakt
Vast v D98 5v V =-650 Nord vE53 5NT O =-460 Ost vD5 64 S =980
Alla + 1063 NS ¢ 765 ov + EDKn10654
#E10843 & ¢ v o NT #63 & ¢ v & NT »- & ¢ v & NT
& KKn 4 E1042 N4 3243 4KD73 #E2 N46 242 452 4 E3 N 5 126 127
vE105432 vK7 S 43243 vD96 vK108742 S 4 6 2 4 2 v10762 vK943 S 5 126 127
¢+ EKn84 ¢ D52 O 8 10119 10 4104 ¢ EKKn 09 7 118 11 +83 ¢72 081614
*7 #KKn92 vV 8 10119 10 D972 #K10 vV 8 7 118 11 #E10865 #KDKn32 V81614
« D9865 + Kn6 « KD984
v Kn6 vKn v EKn8
+ K97 + D9832 + K9
«D65 #EKn854 #974
Par  Kontr ut Res Poéang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
13 2 14 O+1 ¢7 -110 140 00|16 8 INO= +3 90 140 00| 2 1 44 S+2 &A 480 9.0 5.0
16 7 3vV+l #A 170 120 20| 2 1 4v O+1 +38 -450 70 7.0| 4 15 44 S+2 &A 480 9.0 5.0
1 12 3NO= 45 -600 10.0 4.0 4 15 5vO= aJ -450 70 7.0 9 5 44 S+2 &A 480 9.0 5.0
8 4 4e V= *A -620 50 90| 9 5 4v0O+1 #A -450 70 7.0[13 3 44 S+2 &A 480 9.0 5.0
10 17 4v V= +6 -620 50 9.0|12 7 4v O+1 #A -450 70 7.0[16 8 44 S+2 &A 480 9.0 5.0
11 6 4v V= a7 -620 50 9.0|13 3 4v O+l &5 -450 70 7.0[17 11 44 S+2 +8 480 9.0 5.0
15 3 4v V= *A -620 50 9.0|17 11 4v O+1 ¢2 -450 70 7.0[14 10 24 S+4 &A 230 20 120
9 14 4v V+1 &A -650 0.0 14.0|14 10 4y O+2 #A -480 0.0 140|112 7 3¢ N+3 4A 170 0.0 14.0
- 5 80| 6 - 7.0 6 - 7.0
7 & K95 Basta kontrakt 8 4 KD62 Basta kontrakt 9 4 D6543 Basta kontrakt
Syd vE96 54 S =600 Vast v5 34 N =140 Nord v EDKn874 5¢ OD-1200
Alla 498532 Ingen + K54 ov ¢E
»107 & ¢ v & NT #108753 & ¢ v & NT &D & ¢ v & NT
4ED743 482 N 117 9 7 8 a7 49853 N9 5797 4Knl082 «E N 3 3 109 5
vKn2 v 10753 S 117 9 7 8 v Kn43 vE1072 S95797 v 1053 v K2 S 3 3 109 5
¢ EK7 + D1064 025455 ¢+ EKn10832 ¢ D96 048536 ¢ KKn ¢D109762 O 9 103 4 7
%943 #D85 V25454 «KD9 «Kn4 V48546 #EKn87 #9432 vV 9 103 4 7
4 Kn106  EKn104 4 K97
vKD84 v KD986 v 96
+Kn *7 ¢ 8543
#EKKn62 *E62 #K1065
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 2 24V-3 vA 300 140 00|13 4 44 N= +6 420 140 00|13 5 2¢vy N+3 ¢9 200 14.0 0.0
10 6 INN+4 48 210 120 20| 3 2 34 S= ¢ A 140 11.0 3.0|10 16 3vy N+1 4A 170 11.0 3.0
13 4 14 V-2 &T 200 80 6.0|14 11 34 S= v4 140 11.0 3.0(11 7 34 N+1 ¢K 170 11.0 3.0
15 5 1a V-2 &T 200 80 6.0]|16 9 24 S= ¢ A 110 80 60| 2 9 1lvyN+2 &A 140 50 9.0
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17 12 24 V-2 &T 200 80 60| 1 8 3¢V-1 v5 50 6.0 80| 4 3 34N= *7 140 50 9.0
1 8 24S-= ¢ A 90 40 10017 12 34 N-1 +Q -50 40 100|15 6 3v N= 4 A 140 50 9.0
16 9 2vS-1 ¢ A -100 20 120|10 6 44 S-2 ¢ A -100 20 12017 1 34 N= +6 140 50 9.0
14 11 54DS-2 +K -500 0.0 14015 5 3¢ V= v5 -110 0.0 14.0|14 12 1v N+1 4A 110 0.0 14.0
7 - 6.6 7 - 6.6 - 8 5.9
10 41064 Basta kontrakt 11 4 KKn5 Basta kontrakt 12 496 Basta kontrakt
Ost v ED985 34 O =-140 Syd v K42 34 S =140 Vast v Kn65 44 V D -1 100
Alla + KKn4 Ingen ¢+ KD872 NS + D95
+D10 & ¢ v & NT »D3 & ¢ v & NT #KDKn62 & ¢ v & NT
s K « EDKn53 N3 2734 #1083 « E62 N6 107 9 8 4 KD842 #Kn753 N 9 3 103 6
vKn64 v73 S32734 v DKn5 v 10973 S 6 107 9 7 v8 vE94 S 9 3 103 6
¢ E98752 463 O 109 6 9 8 ¢E5 ¢ Kn104 073633 ¢+ E10862 ¢ KKn73 02 102 9 6
*Kn72 #EK95 V 109 6 9 8 #Kn10964 #K87 V73633 #93 +104 vV 2 102 9 6
49872 « D974 4 E10
v K102 v E86 vKD10732
+ D10 4963 *4
#8643 *E52 *E875
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 7 3#0-1 v2 100 120 20|15 7 INN+4 &7 210 140 0.0|16 11 4vDS+1 4K 990 140 0.0
13 5 44 O-1 v2 100 120 20| 5 4 14 S+4 +A 200 120 20|13 6 4vy S+2 42 680 120 2.0
15 6 3#0-1 vK 100 12.0 20|16 11 14 S+2 ¢A 140 10.0 4.0|12 8 4v S+1 +A 650 10.0 4.0
17 1 2v N-1 SA -100 80 6.0| 2 17 1¢ N+2 T 110 80 60| 5 4 4vS= s K 620 70 7.0
4 3 3#0-= v2 -110 50 90|13 6 INS-= &J 90 50 90|14 1 4vS= +K 620 70 7.0
10 16 3# 0O = vK -110 50 9.0|14 1 2¢ N= v7 90 50 9.0| 3 10 3v S+2 4K 200 4.0 10.0
2 9 240+1 &6 -140 20 120| 3 10 INS-1 &J -50 10 13.0(15 7 3v S+l 42 170 2.0 12.0
14 12 3v N-2 &A -200 0.0 140|12 8 INS-1 &J -50 1.0 13.0| 2 17 2v S+1 &K 140 0.0 14.0
- 8 59| - 9 86| - 9 8.6
13 4109 Basta kontrakt 14 4 D105 Basta kontrakt 15 4 DKn1072 Basta kontrakt
Nord v K9 34 O =-140 Ost vD74 4¢ OD-1100 Syd v 102 7v O D -6 1400
Alla + D1093 Ingen +5 NS ¢ E9542
#105432 & ¢ v & NT #KKn5432 & ¢ v & NT *2 & ¢ v & NT
442 «EDKN763 N 8 9 6 4 5 & KKn974 & E832 N 104 8 4 4 48 « K94 N9 8 6 129
v 87654 vE2 S 89645 v53 v K102 S 104 8 4 4 vKD97643 ¢85 S 98 6 129
+ K4 ¢ E52 054797 +D1098 ¢ EKKn3 039397 + K87 ¢+ D1063 045714
#9876 #KKn V546287 &E9 »87 V39397 *74 #KKn96 V34613
& K85 46 & E653
v DKn103 v EKn986 v EKn
+ Kn876 47642 ¢+ Kn
*ED «D106 #ED10853
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
15 8 14 0+1 +vQ -110 140 00| 6 5 54 V-2 +5 100 140 00|17 4 5¢vDV-5 &2 1100 140 0.0
1 9 24 0+1 &A -140 70 7.0 1 9 4aV-1 +5 50 100 40|15 9 34 S+3 ¢K 230 120 2.0
4 11 14 0+2 vQ -140 7.0 7.0| 4 11 4e V-1 +5 50 100 40|16 1 34 N+1 8 170 10.0 4.0
6 5 340= *A -140 70 7.0(16 12 44 V-1 &2 50 100 40| 7 6 34 N= v8 140 8.0 6.0
7 13 14 O+2 T -140 7.0 7.0| 7 13 44 O= v6 -420 3.0 11.0| 8 13 3v V-2 ¢ A 100 50 9.0
14 2 34 0= *A -140 70 7.0|14 2 44 0= vA -420 3.0 11.0|14 3 3v V-2 &2 100 50 9.0
16 12 24 O+1 T -140 70 7.0|15 8 44 V= +5 -420 30 11.0| 2 10 3#S-1 vK -100 1.0 13.0
17 3 24 0+2 +vQ -170 0.0 14017 3 44 0O= *7 -420 3.0 11.0| 5 12 54 N-1 v8 -100 1.0 13.0
- 10 76| - 10 7611 - 7.8
16 & EK932 Basta kontrakt 17 a4 Basta kontrakt 18 & EK94 Basta kontrakt
Vast vD72 54 N =450 Nord vD3 34 OD-1100 Ost v 107 5NT S =660
oV + KD9%4 Ingen + K10854 NS + KD10
»10 & ¢ v & NT #Kn10842 & ¢ v & NT #6532 & ¢ v & NT
&« DKn7 10 N4 9 11117 « D863 « EKKn7 N9 86 55 « D7 41065 N 109 101111
v Kn96 v 105 S 4 9 11117 vKKn1086 v94 S98655 vDKn84 v632 S 109 101111
+3 ¢ Kn8762 094112 4932 ¢+ D76 045787 ¢ Kn64 ¢ 987532 034322
#ED9873 #KKn642 V94112 *6 #KD93 V45786 #DKn104 #K V 34322
4 8654 410952 & Kn832
v EK843 vE752 v EK95
+ E105 ¢ EKn ¢ E
»5 *E75 »E987
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
5 12 44 N+2 T 480 140 00| 4 14 2v0O-2 ¢ A 100 140 00| 8 7 44 N+2 &K 680 13.0 1.0
7 6 44 N+1 &K 450 70 70| 6 1 3NO-1 v2 50 80 60|16 2 44 N+2 &K 680 13.0 1.0
8 13 44 N+1 &2 450 70 70| 8 7 3NO-1 v2 50 80 6.0| 3 11 44 N+1 &K 650 6.0 8.0
14 3 44 N+1 &4 450 70 7.0(|13 9 3a4V-1 vQ 50 80 60| 6 1 44N+l 49 650 6.0 8.0
15 9 44 N+1 &K 450 70 7.0|15 10 2v0O-1 ¢ A 50 80 60|13 9 44N+l 92 650 6.0 8.0
16 1 44 N+1 T 450 70 7.0|16 2 3NO-1 a2 50 8.0 6.0|15 10 44 N+1 &K 650 6.0 8.0
17 4 44 N+1 T 450 70 7.0(17 5 14 O+1 +A -110 20 12017 5 44 N+1 ¢2 650 6.0 8.0
2 10 24 N+3 v5 200 0.0 140| 3 11 INO+1 &5 -120 0.0 140| 4 14 44 N= *K 620 0.0 14.0
11 - 7.8 - 12 6.6 - 12 6.6
19 482 Basta kontrakt 20 4 K97 Basta kontrakt 21 4 K10962 Basta kontrakt
Syd v 8543 5NTV =-660 Vast v D6543 6# V =-1370 Nord v E854 4ANT O =-430
oV +32 Alla 41052 NS +K
#D9854 & ¢ v & NT #93 & ¢ v & NT #1094 & ¢ v & NT
4 EDKn4 41073 N3 3232 4E1032 4DKn N146 32 « D7 4« Kn84 N3 2363
vED96 vK102 S33232 v9 v EKn7 S14632 v 106 vKD973 S32363
+ K9 ¢+ Kn1084 O 1010101011 4983 ¢+ EK4 0129 6 9 9 ¢ DKn973 ¢ E42 O 10109 7 10
& EK7 #1063 V 1010101011 #ED1064 #KKn875 vV 129 6 9 9 #EKD6 &Kn7 V 10109 7 10
& K965 4 8654 4 E53
v Kn7 v K1082 v Kn2
+ ED765 + DKn76 + 10865
#Kn2 *2 #8532
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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9 8 3NV-1 *9 100 140 00| 5 14 3#V+2 3 -150 140 00| 5 1 4v0O-2 s A 100 0.0
13 10 2¢ V= 48 90 120 20| 9 8 3#0+3 v2 -170  11.0 3.0(12 15 3¢ V-1 oT 50 3.0
11 15 2NV = ¢3 -120 10.0 4.0(17 6 2#0+4 +Q -170 11.0 30(14 6 3NO-1 a5 50 3.0

7 2 1vV+2 3 -140 80 60| 7 2 540= ¢7 -600 70 7.0|17 7 2¢ V= a2 -90 6.0

4 12 14 V+3 3 -170 6.0 80|13 10 3NO= v2 -600 70 7.0| 8 3 2¢V+l YA -110 10.0

5 14 3NV= *4 -600 40 10.0| 4 12 3NO+1 v2 -630 3.0 11.0|110 9 3¢ V= vA -110 10.0
16 3 3NV+l 4 -630 10 13.0(16 3 3NO+1 v2 -630 3.0 11.0|16 4 3¢ V= a2 -110 10.0
17 6 3NV+l #4 -630 1.0 13.0|11 15 64 0= v8 -1370 0.0 14013 11 3v O = 43 -140 14.0

-1 741 - 1 741 - 2 4.1
22 4 Kn10 Basta kontrakt 23 4 D108763 Basta kontrakt 24 4 ED543 Basta kontrakt
Ost v74 24 S =110 Syd v Kn2 44 S =620 Vast vD1072 ANT N =430
ov ¢ KD105 Alla ¢ KKn72 Ingen ¢ 1085

#ED1086 & ¢ v aN *E & ¢ v & NT *K LI A Y
«D875 42 N7 7586 aK942  aKn N 8 105 107 + Kn6 » K1098 N 8 108 8
vD96 v EK1082 S77586 vD76 vK109543 S 8 105 107 vKn963 vEKS8 S 7 107 8
+976 ¢ E83 065857 ¢E1093 ¢5 043824 ¢+ Kn4 4932 05255
#Kn53 #K942 V66857 #103 #97652 V43824 #Kn9752 #1063 V5255

& EK9643 4E5 472

v Kn53 vE8 v54

¢ Kn42 + D864 + EKD76

»7 #KDKng4 #ED84

Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res
17 7 24 S+1  v6 140 140 0.0| 5 16 3NS+2 a2 660 140 00| 5 16 3NN+l 438 430 2.0
12 15 24 S= vQ 110 110 3.0| 9 4 44 N+1 5 650 120 20| 6 2 3NN+1 8 430 2.0
16 4 24 S= vQ 110 11.0 3.0|11 10 44 N= +5 620 90 50| 9 4 3NN+1 49 430 2.0

8 3 2v0O-1 s A 100 80 60|17 8 44 S= ¢ A 620 9.0 50|11 10 2NN+2 438 180 6.0

5 1 44 S-1 vQ -50 6.0 80| 6 2 44 N-1 +5 -100 50 9.0|15 1 2¢S+2 v3 130 9.0
13 11 34 S-2 v6 -100 3.0 11.0|15 1 44 N-1 ¢+5 -100 50 9.0|17 8 2¢ S+2 &7 130 9.0
14 6 44 S-2 vQ -100 3.0 11.0|12 13 44 N-2 +5 -200 2.0 12012 13 3NN-1 *6 -50 13.0
10 9 44 S-3 v6 -150 0.0 140|14 7 3NS-3 ¢ A -300 00 140|14 7 24 N-1 vA -50 13.0

-2 41| - 3 82| - 3 8.2
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